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e E g c Z [ g g § e : 2 - 3.01 52 (A2, 53,64,55) Ao 40% H=17.5m  |N+4+Mk | 2753.43| 1514.39 9086| 55.00% 3.30 E: = 2 £
= Z o = —
102 |62 (A2, B3,54,55) 4o 40% H=17.5m  |N+a+Mx | 441857 7430.21] 14581.27 55.00%|  3.30 : - =2 L : : - S8 : : (61,62, 63,64,65 B3,B4) so ’ =16.2m [N+ ' : 297 014 02 A2 (61,62, 63,64,65,82, B3,B4,13) a0 40% |H=16.2m  |N+4+Mk | 1247.54] 662.02] 3972.15] 53.07% 3.18
103 |2 (A2, B3,64,65) 1o 40% Ho17.5m  |Mea+lx | 1073.05 59018 354107 55.00%|  3.30 202 |B2 (A2, B3,64,55) a0 40% Hel7Sm  Medaf | 324622 1785.42) 1071253 S5.00% 330 14573 300 A2 (61,52,B3646583B0) po A%  \H=16.2m Mk | 42924 21629 1298, S039% 3020, G3 p; (51,52, 63,64,65,82, B3,84,13) ac 40% |H=16.2m  |N+4+Mk | 1664.38] 92341 554043 55.48% 3.33
104 0 (A2 53.54.55) 40 40% he17om Inearme | 1510.57 g30.81] 298188 55.00% 330 2.03 B2 (A2, B3,64,55) ao 40% H=17.5m  |N+4+Nk | 2060.64| 1133.35| 6800.12] 55.00% 3.30 P 3.05 Az (61,52, 63,64,55 B3,B4) no 40% H=16.2m  [M+4+MK 530.86| 141.96 852 26.74% P o \EL B2, B3,54.55,5, B3.BA ) ap 40% |Heibam  |wdeie | 120407 41611 2096.65| 34.27% 506
= P 2.04 A2 (61,62, B3,64,55 B3,84) A0 40% H=17.5m  |N+4+MNk 1838.79] 851.82| 5110.92] 46.32% 2.78 L 3.06 A2 (61,62, 63,64,65 B3,B4) no 40% H=16.2m  |M+4+Mk 406.67|  224.60 1348| 55.23% 3.31 oo o s T
105 B2 (A2, B3,64,85) a0 40% Ho17.5m  (Meddfc | 664.39 36541 219248 S5.00% 330 Y 4048 A2 (61,62, 63,564,65,82, B3,B4,03) ac 40% |H=16.2m  |N+4+Nk | 1089.66| 443.78| 2662.69 40.73% 2.44
1.07 B2 (A2, 63,64,65) 9 = 2 9 2.05 b1 H=7.5m M+1+nK 640.39| 352.22| 1056.65| 55.00% 1.65 o 3.07 A2 (61,52, B3,64,55 B3,B4) no 40% H=16.2m  |M+4+Mk 390.03| 165.43 993| 42.41% 2.54|%* b2, b3,b4,b5,B2, B3,B4, - - . . 73% .

-  53,64,85) fo 40% H=17.5m WN+a+Tk | 1022.04 56212 337273 5500%| 330 , X 4.05 A2 (51,62, 63,64,65,82, B3,84,113) a0 40% |H=16.2m  |M+4+Mk | 172033] 873.40| 524037 50.77% 3.05
1.08 B2 (A2, B3,64,65) no 40% H=17.5m M+4+Mk 3270.10 1798.56| 10791.33| 55.00% 3.30 2.06 52 (A2, B3,64,65) a0 40% H=17.5m M+4+MK 1330.59| 731.82| 4390.93| 55.00% 3.30 / y 3.08 B2 (A2, B3,64,65) o 4024 H=17.5m N+4+MK 854.83|  470.16 2821 55-002%1 3.30 4-06 e 51'52' 53' B4,BS,B2’ 83'54' " A 4012/2 H:16-2 etan 1102-66 470-86 2825-13 42-70%:; 2-56
1.09 B5 (51,52, B3,54, 56, B2, B3,B4,03) 40 40% |H=19.5m  |M+5+Mk | 3947.87 2171.33| 15199.30 55.00% 3.85 207 [E2 H=10.2m  |M+1 2452.58| 1714.00| 3428.00| 69.89% 1.40 ‘ /4 3.09 b2 (A2, B3,64,65) Ro 40% H=17.5m _ |N+4+Mk | 1054.72| 580.10 3481| 55.00% 3.30|% (61,62, 63,64,65,82, B3 B4,113) no =25.2m HIK : - : : -
1.10 B2 (A2, B3,54,65) no 40% H=17.5m  |M+4+Mk 2394.04 1316.72| 7900.35/ 55.00% 3.30 2.08 B2 (A2, B3,64,65) go 40% H=17.5m  |N+4+Mk 641.47| 352.81| 2116.86] 55.00% 3.30 3.10 b2 (A2, B3,64,B5) fo 40% H=17.5m  |M+4+Mk 1225.69| 527.26 3164) 43.02% 2.58/4.07 A2 (61,62, 63,64,65,B2, B3,B4,013) oo 40% |H=16.2m N+4+MK 97138/ 389.43| 2336.56| 40.09% 2.41
111 B2 (A2, 53,54,55) 140 40% H=17.5m  |M+4+Mk 997.72 548.74| 329247 55.00% 3.30 2.09 Al (61, B1) go 30% H=10.2m  |N+2+Mk 327.96] 108.23|  432.90| 33.00% 1.32] e 3.11 B2 (A2, B3,64,B5) Ao 40% H=17.5m  |N+4+Mk | 1248.24] 686.53 4119| 55.00% 3.30/4.08 B5 H=16.2m  [N+4+Mk 850.20 391.86| 2351.14| 45.55% 2.73
112 B2 (A2, 63,64,55) a0 40% H=17.5m  |N+4+Mk 988,44 543.64| 3261.85 55.00% 3.30 2.10 ALl (51, B1) no 30% H=10.2m  |M+2+Mk 318.70| 105.17| 42068 33.00% 1.32] 7466 Y J1 A 3.12 B2 (A2, B3,64,B5) Ao 40% H=17.5m _ |N+4+Mk | 2573.62| 1415.49 8493) 55.00% 3.30{4.09 Bl H=7.5m N+1+0K 203.38 70.51 21152 34.67% 1.04]
1.14 B2 (A2, B3,64,B5) 1o 40% H=17.5m M+4+Mk 2376.48 1307.06| 7842.37 55.00% 3.30] 211 Al (B1, B1) go 30% H=10.2m M+2+Mk 329.52 108.74 434.97| 33.00% 1.32 4 3.13 B2 (A2, B3,64,B5) po 40% H=17.5m M+4+Mk 929.54| 511.25 3067| 55.00% 3.30 4.10 A2 (61,62, 63,64,65,82, B3,84,13) Ao 40% |H=16.2m MN+4+Mk 844.29 405.33|  2432.01] 48.01% 2.88
115 B2 (A2, 63,64,5) 1o 40% H=17.5m  |M+a+Mk 750.33 41268 2476.09] 55.00% 3.30 212 Al (B1, B1) Ao 30% H=10.2m  |m=2+Mk 353.16] 116.54] 466.18] 33.00% 1.32 / ’9\79 3.4 B2 (A2, 63,64,65) Ao 40% H=17.5m  [N+4+Nk | 247006 135853 8151] 55.00% 330011 Bl H=7.5m N+1+MK 35612 126.83) 380.49 35.61% 1.07
116 B2 (A2, B3,64,B5) no 40% H=17.5m N+4+MNK 1980.76 1089.42| 6536.51| 55.00% 3.30 213 Al (B1, B1) go 30% H=10.2m N+2+Mk 400.66 132.22 528.87| 33.00% 1.32| ; 315 Al (B1, B1) o 30% H=10.2m N+2+Mk 818.10 269.97 1080| 33.00% 1.32 412 Bl H=75m M1k 208.93 56.72 170.16]  27.15% 0.81
117 B2 (A2, B3,64,5) g0 40% H=17.5m  [N+4+Mk | 2193.91 1206.65| 7239.89| 55.00% 3.30 514 AL (BL, BL} a0 30% H=102m  |M=2+Mk 371.42| 12257 49027 33.00% 1.32] 3.16 Al (61,B1) Ao 30% H=10.2m _ |M+2+Mk 742.36| 244.98 980] 33.00% 1.321= : : : : — :
1.18 B2 (A2, B3,64,65) o 40% H=17.5m  |M+4+Mk | 1156.23 635.93| 3815.56 55.00% 3.30 515 L (61, B1) A0 30% He102m  |meaenx 38142 125.87|  503.48] 33.00% 130 7/ 3.17 Al (61, B1) ao 30% H=10.2m  |M+2+Mk 445.12|  146.89 588|  33.00% 1.32[4.13 A2 (B1,62, b3,b4,65,B2, B3,B4,A43) Ao 40% | H=16.2m _ |MN+4+k 78091 36592 2195.53) 46.86% 2.81
1.19 B2 (A2, B3,64,65) 1o 40% H=17.5m  |M+4+Mk 1022.50 562.38| 3374.26| 55.00% 3.30 215A AL (BL, B1) A0 20% He102m  |me2+mk 355.30]  117.28]  469.12| 33.00% 132 /s 3.18 Al (61, B1) Ao 30% H=10.2m  |M+2+Mk 345.59| 114.04 456 33.00% 1.32|4.14 B1 H=7.5m N+1+nk 544.23 245.77 737.32) 45.16% 1.35
1.20 B2 (A2, 53,64,B5) 1o 40% H=17.5m M+4+Mk 981.35 539.74| 323846/ 55.00% 3.30 516 AL (Ely B1) 10 30% H=10.2m =24k 422,50 139.42 557.70]  33.00% 132 | ’I 3.19 Al (61, B1) oo 30% H=10.2m N+2+Nk 590.46 194.85 779|  33.00% 1.32]4.15 bl H=7.5m N+1+nK 602.51 302.11 906.34| 50.14% 1.50
1.21 B2 (A2, B3,64,65) no 40% H=17.5m M+4+Mk 328.00 180.40| 1082.39 55.00%. 3.30] 517 AL (51' B1) 0 30% H=10.2m =241k 419.73 138.51 554.05 33.00% 132 / N % 4 4 ,] 3.20 Al (61, B1) ao 30% H=10.2m M+2+MK 785.76, 259.30 1037| 33.00% 1.32|14.16 B2 (A2,B1,63, 64,65, B1) Ao 40% H=17.5m N+4+Nk 2343.75| 1289.06| 7734.39 55.00% 3.30
1.22 B2 (A2, 63,64,65) 8o 40% H=17.5m M+4+Mk 1091.74 600.46| 360276/ 55.00% 3.30 318 AL (51' B1) a0 30% H=10.2m Ne2+x 379.79 125.33 501.32]  33.00% 132 < . 3.21 A2 (61,62, B3,64,65 B3,B4) no 40% H=13.2m M+3+Nk 326.24] 107.66 538 33.00% 1.65 4.17 Al (61, B1) gp 30% H=10.2m N+2+Nk 837.97 276.53 1106.12| 33.00% 1.32
1.23 Al {51, B1) 40 30% H=10.2m  |N+2+Mk | 1112,18 367.02| 1468.08 33.00% 1.32| 2'19 AL (51' B1) a0 30% H:10.2|'n R 324.30 107.13 423.73 33.oo'y 1'32 3.22 A2 (51,62, 63,64,55 B3,B4) a0 40% H=13.2Zm  |[M+3+MK 524,52|  173.09 865 33.00% 165/, g Al (B1, B1) a0 30% He10.9m  |ns2+nx 37471 12366  494.62| 33.00% 132
1.24 Al (51, B1) a0 30% H=10.2m  |M+2+Mk 422.25 139.34|  557.37| 33.00% 1.32 : d D" — : . . : D" . X 3.23 A2 (51,62, 63,64,55 B3,B4) a0 40% H=13.2m  |M+3+Mk 436,82 144.15 721 33.00% 1.65[ ’ - — : - : — :
125 Al (51, B1) 40 30% H=102m  |m+2+mx 718.26 23703| 94810 33.00% 132 iig 21 (Ei, 21) Ao z; :;ig.im :Tiigu :é:igi 1%.12 gz.zg :z$; i:i ) S2 " (5152, 53.54.55 B3,54) 50 40% wo17om  Tnoame | 111450 60713 PV Ey— 3 419 Al (1, B1) go 3ODA; H:10.2m N+2+Nk 617.59| 203.80| 815.22 33.000A: 1.32
126 |a1 (51, B1) 40 30% H=10.2m  |m+2¢mc | 401.22 13240 52061/ 33.00%) 132 : (B1, B1) a0 30% Zm e : : : === : 3.24  |A2 (FLE2,635455B384) 0 40%  |H=17.5m  |M+4+Mx | 068.49] 55248  3315| s7.05%  3.42|%20 Al (B1, B1) n0 30% H=10.2m |42+ | 64313 212.23] 84893 33.00% 132
127 |a1 {51, B1) 40 30% Ho102m  |me2emi | 392.32 12947|  517.87] 33.00%] 132 222 Al (B1, 1) Ao 30% MPID2m 2 | 70476 23257, 93028 33.00%  1.32 = 5.0 325 |a2 (51,52,63,64,55 B3B4) 0o 40% __ |H=13.2m _ |N+3+M« | 68191 22503 1125 33.00% _ 165421  |Al (b1, B1) a0 30% H=10.2m _ |N+2+Mk | 459.39 15490/ 619.60| 33.00%|  1.32
1.28 Al (61, B1) 50 30% H=10.2m M+2+Mk 726.34 239.69] 958.77| 33.00% 1.32 2.23 Al (BL, B1) Ao SODA’ Hilo.Zm M+2+Mk 650.13 214.54 858.18 33'00f’ 1.32 T\\ 3.26 B2 (A2, B3,64,55) o 40% H=17.5m M+A+MK 1450,24|  797.63 4786| 55.00% 3.30(4.22 Al (61, B1) ao 30% H=10.2m N+2+Nk 504.45 166.47 665.88| 33.00% 1.32
129 |a1 (51, B1) a0 30% H=10.2m  [M+2+Mk 608.21 20071  802.84] 33.00% 132 2.24 Al (B1, B1) Ao 309" H=10.2m  |M+2+Mk 596.86] 196.96| 787.85 33'000" 132 3268 |62 (A2, 53,64,65) o 40% H=17.5m  |N+4+Mk | 1424.37| 783.41 4700] 55.00% 3.30/4.23 Al (51, B1) ao 30% H=10.2m  |M+2+MK 471.73]  155.67| 622.68] 33.00% 1.32
1.30 Al (51, B1) 40 30% H=10.2m  |M+2+Mk 584,54 192.90|  771.59] 33.00% 1.32 2.25 Al (61, B1) go 30% H=10.2m _ |M+2+Mk 558.15| 184.52| 738.08] 33.00% 1.32 3.27 52 (A2, B3,64,55) fo 40% H=17.5m  |M+4+Mk 2878.95| 1583.42 9501 55.00% 3.30[4.24 Al (51, B1) ao 30% H=10.2m  |N+2+Nk 299.82| 296.94| 1187.76 33.00% 1.32

> - .,

131 B2 (A2, B3,64,B5) a0 40% H=10.5m  [M+2 669.03 367.97| 1103.90| 55.00% 1.65) 2.26 Al (B1, B1) Ao 30% H=102m  |N+2+Mk 316.24|  104.36]  417.44] 33.00% 1.32 .01 5 3.28 52 (A2, B3,64,55) a0 40% H=17.5m  |N+4+Nx | 1733.76] 953.57 5721 55.00% 3.30[4 25 o (b1, B1) 20 30% He10.2m  |ns2+nx 271.97 29.75|  358.09] 33.00% 132
1.31A B2 (A2, B3,64,65) no 40% H=10.5m n+2 510.85 280.97| 842,90 55.00% 1.65) 2.27 Al (B1, B1) go 30% H=10.2m M+2+1k 321.43|  106.07 424.29 33.00% 1.32] - - - - , - - . - - -

/ 3.29 52 (A2, 53,64,55) A0 40% H=17.5m _ |M+4+Mk | 2161.01] 1188.55 7131 55.00% 3.3004 56 A (51, B1) 20 30% He10.2m  |Me2enx 58823 19412] 77646 33.00% 132
132 b2 (A2, 63,64,B5) 1o 40% H=13.6m  |M+3+Mk 863.00 474.65| 1898.60]  55.00% 2.20 2.28 AL (51, B1) Ao 30% H=10.2m  |M+2+MK 328.47| 108.39]  433.58) 33.00% 1.32 R _ o - » 21) A0 - - - - - :

3.30 Al (51, B1) A 30% H=10.2m _ [M+2+Mk 407.70|  134.54 538)  33.00% 1.32 D - -

133 a1 (51, B1) 40 30% H=10.2m  [M+2+Mk 662.78 21872  874.87 33.00% 1.32 2.29 AL (B1, B1} Ao 30% H=10.2m _ |M+2+Mk 331.84] 109.51]  438.03] 33.00% 1.32) P 331 It (51, B1) 21p 30% Ho10.2m  Me2enx 95.02|  195.35 g5 33.00% IET) Al (B1,B1) a0 30:6 H=10.2m _ |N+2+Mk 373.66| 12331 493.23 33-00:6 1.32
1332 |AL (51, B1) 40 30% H=10.2m  |M+2+Mk 543.15 179.24)  716.95  33.00% 132 2.30 AL (51, B1) Ao 30% H=10.2m  |M+2+Mk 378.46|  124.89]  499.57] 33.00% 1.32) 7 232 a1 (51, B1) 20 30% H=10.2m  |mezenx 518.95| 17126 535 33.00% 137|428 Al (B1, B1) a0 30% H=10.2m _ |N+2+k 450.15| 14855 59419 33.00% 1.32
1330 |AL (51, B1) 40 30% H=10.2m _ |M+2+Mk 392.79 129.62|  518.48 33.00% 132 231 Al (51, B1) Ao 30% H=10.2m  |m+2+4Mk 367.63] 121.32| 485.28] 33.00% 1.32 1 2 7 6 233 A (51, B1) 20 30% He10.2m  Mezenk 51736 180.63 223 33.00% 1321429 Al (61, B1) ap 30% H=10.2m  |M+2+Mk 555.44/ 183.29|  733.18| 33.00% 1.32
1.34 Al (B2, B1) o 30% H=10.2m  |M+2+Mk 365.88 12074 482.96 33.00% 1.32 2.32 Al (B1, B1} a0 30% H=10.2m  |N+2+Mk 379.07| 125.09| 500.38) 33.00% 1.32] - 3.34 Al (61, B1) o 30% H=10.2m  |M+2+Mk 645.44|  213.00 852| 33.00% 1.324.30 Al (E1, B1) oo 30% H=10.2m N+2+Mk 368.09 121.47 485.87 33.00% 1.32
1348 AL (51,B1) Ao 303’“ A=10.2m  |M+2+Mk 460.77 152.06] 60822 33'0036 132 2.33 AL (61, B1) o 30% H=10.2m  [M+2+Mk 375.51] 123.92| 49568 33.00% 1.32 ‘ 3.35 A1 (51, B1) Ao 30% H=10.2m  |M+2+Mk 424.35|  140.04 560| 33.00% 1.32(4.31 Al (b1, B1) go 30% H=10.2m  |M+2+Mk 485.05 160.07| 640.27| 33.00% 1.32
1348 AL (E1, B1) o 30% Hol0.2m  (Me2eflc | 47852 1579 63164 33.00% 132 234 A1 (BL, B1) A0 30% H=102m  |n+2+Mk | 369.78] 12203 48811 33.00%|  1.32 33 |a1 (51, B1) Ao 30% H=102m  |Me2eMk | 372.02]  122.77 a91] 3300% 1320232  |A1 (61, B1) 10 30% H=10.2m  |n+2+Mk | 49262 16257  650.26] 33.00%  1.32
135 Al (51, B1) o 30% H:1u.gm N+2+Mk 519.16 171.32]  685.29] 33.00% 1.32] 35 AL (EL, B1) a0 30% He102m  |Me2eix 358.04]  118.15| 472.62] 33.00% 132 : m 337 a1 (61, B1) 0 30% H=10.2m  |mezenx 20134 132.44 530] 33.00% 13202 33 AL (51, B1) 20 30% he10.2m  Ins2enx 35750 12787 51150 33.00% 132
I (Ei Si) o 339/6 i om T | eones rogs| orre gigg? o 236 Al (BL, B1) 30 30% Ho102m N2l | 38145 109.38 43752 33.00% 132 338 AL (51, B1) Ao 30% Ho10.2m  |M+2+Mk | 40901 134.97 540| 3300%| 1321440 |pg (61, B1) 0 30% H=10.2m  |N+2+Mk | 67774 22365 894.61] 33.00% 132
138 M :sf 31; o 30% 10am e 2506 o275 av098 ssoow| 132 237 AL (B1, B1) Ao 30% Ho10.2m Me2tk | 35770, 11804 47217, 33.00%  1.32 339 AL (51, B1) a0 30% Ho10.2m [Ne2+Mk | 471.98) 108,95 436 23.08% O 35 |l (51, B1) 20 30% H=10.2m  |N+2+Mx | 412.90] 136.26] 545.03| 33.00%  1.32

- 2ol A0 S ——= u : : ‘ = - ~ 3 a1 (B1, B1) Ao 30% H=10.2m  |M+2+Mk 287.25]  o4.79] 37817 33.00% 1.32] 340 |1 (51, B1) A0 30% H=10.2m  |M+2+Mk 643.89) 212.48 850 33.00% 1.32— : - — : : : — :

1.39 Al (51, B1) 40 30% H=10.2m  [M+2+Mk 340.07 11222 448,89  33.00% 1.32 x . t - . . : : s " - : - - - : —14.36 Al (61, B1) a0 30% H=10.2m  |M+2+Mk 507.12|  167.35 669.40) 33.00% 1.32
9 39 AL (61, B1) Ao 30% H=10.2m  |M+2+Mk 302.000  99.66] 398.64] 33.00% 1.32 g ’ 3.41 a1 (51, B1) a0 30% H=10.2m  [M+2+Mk 38113 12577 503| 33.00% 1.32 d
1.40 a1 b1, B1) 40 30% H=10.2 M+2+0 468.64 154.65]  618.60] 33.00% 1.32 = d .
(61, B1) s . il sl . d  fag AL (B1, B1) Ao 30% H=10.2m  |n+2+Mk 293.81 96.96| 387.83 33.00% 1.32) 3.42 Al (61, B1) Ao 30% H=10.2m  |M+2+MK 390.76] 128.95 516 33.00% 1.32|4.37 Al (b1, B1) 10 30% H=10.2m  |N+2+Mk 559.17) 18453 73810 33.00% 1.32
141 Al (51, B1) o 30% H=102m  |M+2+Mk 676.66 223.30]  893.19] 33.00% 1.32] S - . 133 Al (BL, B1) 20 30% He102m  ne2ene 36260 11088 278.76] 33.00% 132
1.42 Al (51, B1) 40 30% H=10.2m  |N+2+Mk 472.70 15599  623.96 33.00% 132 2.40A AL (B1, B1) no 30% H=10.2m  |N+2+Mk 302.49) 99.82|  399.29) 33.00% 1.32] « I 3.43 Al (51, B1) 1o 30% H=10.2m _ |M+2+Mk 298.58 98.53 394] 33.00% 1.32[4 , B1) Ao 30% . . . . .00% -

. . =10, . : : . - AL AL (BL, B1) 40 30% He102m  IMe2ems 420520  14.74]  566.96] 33.00% 132 3.44 a1 (51, B1) Ao 30% H=10.2m  [M+2+Mk 416.10]  137.31 549| 33.00% 1.32|4.39 Al (61, B1) ap 30% H=10.2m  |M+2+Mk 316.38)  104.41| 417.62| 33.00% 1.32
1.43 Al 51, B1) 40 30% H=10.2 n+2+4N 482.77 159.31]  637.25] 33.00% 1.32
144 AL EEL 31; iz 30% H:10.2: r|+2+r|2 1043.90 34449 1377.95 33.00% 132 2414 A1 (51, B1) g0 30% H=10.2m  [M+2+MK 404.05| 133.34] 533.35] 33.00% 1.32) S S 3.45 a1 (51, B1) Ao 30% H=10.2m  |M42+Mk 309.31|  102.07 408| 33.00% 1.32|4.40 Al (51, B1) a0 30% H=10.2m  |m+2+MNk 32948  108.73) 434.92] 33.00% 1.32
1.45 A1 (51, B1) a0 30% H=102m  |M+2+Mk 599.04 197.68) 790.73] 33.00% 132 2.42 Al (B1, B1) Ao 30% H=10.2m _ |M+2+Mk 633.19| 208.95  835.82 33.00% 1.32 3.16 Al (B1, B1) a0 30% H=10.2m  |M+2+Mk 424.16|  139.97 560| 33.00% 1.3214.41 Al (61, B1) g0 30% H=10.2m  [N+2+Mk 347.37|  114.63| 458.53| 33.00% 1.32
146 Al (51, B1) 40 30% H=102m  |M+2+MK 378.25 124.82(  499.28] 33.00% 132 2.43 Al (B1, B1) Ao 30% H=10.2m  [M+2+Mk 537.30| 177.31] 709.23) 33.00% 1.32 3.47 Al (B1, B1) Ao 30% H=10.2m  |M+2+Mk 379.78| 125.33 501 33.00% 13214 42 Al B1, B1) a0 30% H=10.2m  |N+2+Mk 354.01] 116.82] 467.29) 33.00% 1.32

_ > - > 17 3.48 Al (51, B1) Ao 30% H=10.2m  [M+2+Mk 286.08]  94.40 378] 33.00% 1.32 ( ) -
147 Al (51, B1) a0 30% H=102m  [M+2+Mk 99171 327.26| 1309.06) 33.00% 132 2.44 Al (B1, B1) Ao 30% H=10.2m  [M+2+MK 460.88| 152.09| 608.36) 33.00% 1.32 2 4.43 Al (b1, B1) g0 30% H=10.2m  [N+2+Mk 494.37|  163.14)  652.57 33.00% 1.32
1.48 Al (51, B1) 10 30% H=10.2m  |M+2+Mk 555.96 183.47|  733.87) 33.00% 1.32] 2.45 Al (51, B1) go 30% H=10.2m  |M+2+Mk 542.44] 179.01] 716.02| 33.00% 1.32] '9 2 ) 3.49 Al (B1, B1) Ao 30% H=10.2m _ |M+2+Mk 333.09] 109.92 440| 33.00% 1.32 444 Al (61, B1) a0 30% He10.2m  Ins2+nx 55060  184.67]  738.67| 33.00% 132
149 |A1 (51, B1) 10 30% Ho102m  |me2me | 83279 w7812 111248 33.00%| 182 246 AL (BL, BL) 0 20% H-102m  |M-2¢Mk | 537.40] 177.24] 70897 33.00%  1.32 1277 N 350 Al (61, B) Ao 30% Hol02m Tl | 37248 122.92 a9 S0%. LA AL (1, B1) 20 30% H=10.2m  |N+2+Tk | 66119 21819 87277 33.00%| 132
150 Al (51, B1) 40 30% H=102m  |M+2+Mk 822.26 27135 1085.38] 33.00% 132 2.47 Al (61, B1) go 30% H=10.2m  |N+2+Mk 560.58| 184.99] 730.96| 33.00% 1.32 ) g B 1 42 3.51 Al (B1, B1) Ao 30% H=10.2m  |N+2+Mk 811.31) 10273 411| 33.00% 1.32 4.46 A 51' ” Aoao\)/: H-10.2 Heaen 526.16 173.63 694.53 33'00‘2 1'32
1.51 a1 (51, B1) 140 30% H=10.2m  [M+2+Mk 468.26 15453]  618.10] 33.00% 1.32 2.48 AL (5L, B1) a0 30% H=10.2m  |M=2+Mx 398.14| 131.39] 525.55| 33.00% 132 - 7 3.52 a1 (51, B1) Ao 30% H=10.2m  [n+2+Mk 380.67| 125.62 502] 33.00% 1.32|4 (61, B1) Ao ’ =10.2m +2+1k . . . 007 -
1.52 Al (51, B1) 4o 30% H=10.2m  |M+2+Mk 282.02 93.07|  372.26] 33.00% 1.32] 2.49 Al (61, B1) Ao 30% H=10.2m  |M+2+MkK 35857 118.33] 473.32] 33.00% 1.32 v .L@ /> 5,0 3.53 Al (B1,B1) Ao 30% H=10.2m  |M+2+Mk 407.13|  134.35 537| 33.00% 1.32|4.47 Al (b1, B1) a0 30% H=10.2m N+2+0Mk 564.45 186.27 745.08  33.00% 1.32
153 AL (51, B1) 20 30% H=102m  |nezenx 334.55 110.40] 44161 33.00% 132 250 AL (BL, B 210 30% Hetozm  Inezens 30885 13L62l  526.48] 33.00% 132 O o 3.54 a1 (51, B1) a0 30% H=10.2m _ [M+2+Mk 590.65|  194.91 780 33.00% 1.32|4.48 Al (1, B1) gp 30% H=10.2m  |M+2+Mk 669.30, 220.87) 883.48) 33.00% 1.32
154 |a1 (51, B1) 40 30% H=102m  |M+2+Mx | 200.36 66.12) 26447 33.00% 132 251 a1 (EL, B1) g0 30% He10.2m  |Me2+mx a1064]  135.51]  54z0a] sa00% L3z > S mn 355 Al (b1, B1) Ao 30% H=10.2m |M+2+Mk | 386.36| 127.50 510 33.00%  1.32|4.49 AL (B1, B1) Ao 30% H=10.2m _ |M+2+k 54319 179.25| 717.01] 33.00% 132
155 A1 (51, B1) a0 30% H=102m  [M+2+Mk 597.54 197.19|  788.75| 33.00% 132 252 AL (1, B1) a0 30% H=102m  |Me2+nx 203.02]  133.00] 53199 33.00% 132 e 0 S02 3.56 Al (B1, B1) Ao 30% H=10.2m  |M+2+Mk 530.74| 175.14 701 33.00% 13214 59 Al (61, B1) gp 30% H=10.2m  |M+2+Mk 513.25| 169.37| 677.49 33.00% 1.32
- = 0,
2 o ooe o | son mel s el | s % . i T T T W SLolmons e ran s s s ol 10
. , B1) a0 30% =10.2m +2+MK . . ) .00% . i . . A0 30% =10.2m K . . X .
254 AL B1, B1) Ao 30% H=10.2 M+2+M 388.92| 128.34| 51337| 33.00% 1.32) . o -10. ] . . 00° .
158 Al (51, B1) 40 30% H=102m  [M+2+Mk 430.13 141.94|  567.77| 33.00% 1.32) ( 1a0 - m “ . L R Al (51, B1) a0 30% H=10.2m  [M+2+Mk 451.07|  148.85 595 33.00% 1.32|%52 Al (B1, B1) A0 30% H=10.2m _ M+2+M1k 55906 18443  737.96 33.00% 1.32
- - 2.55 AL (B1, B1) Ao 30% H=10.2m  |M+2+Mk 324.12) 106.96|  427.84| 33.00% 1.32 IS 3 - . 4.53 Al (b1, B1) ap 30% H=10.2m  |M+2+Mk 638.72) 21078 843.11| 33.00% 1.32
159 A1 (51, B1) 10 30% H=10.2m  |M+2+Mk 466.72 154.02]  616.07] 33.00% 1.32 . — . C 3.60 Al (51, B1) a0 30% H=10.2m  |M+2+Mk 333.00]  109.89 440 33.00% 1.32
60 AL (51, B1} 40 30% Ho102m  |ne2+mc | 487.50 16088 64351 33.00% 132 256 AL (B1, B1) Ao 30% HolO2m  Mezel | 671701 JOB16|  B2064) 33.00% 132 361 A1 (1. B1) 20 30% He102m  Inszene | adees|  147.40 soo| 3300% 132454  |AL (51, B1) A0 30% H=10.2m  |N+2+Mk | 1068.08 352.46] 1409.84] 33.00%  1.32
161 |AlL {51, BL} 40 30% Ho102m |2+l | 850.06 28052| 112208 33.00% 132 257 Al (BL, B1) Ao 30% MEIO.2m N2l | 635.99) 20988 83950 33.00% 132 < ; 362 a1 (61, B1) 40 30% H-102m  |me2eMk | 407.79] 13457 s38| 33.00%  1.32/455  |Al (61, B1) 4o 30% H=10.2m  |N+2+Mk | 1013.78] 33455 1338.19] 33.00%|  1.32
162 |AL (51, BL) a0 30% H=102m  |+2+Mk 273.59 90.29]  361.14] 33.00% 132 2.58 AL (61, B1) Ao 30% H=10.2m  |M+2+K 783.65] 260.58| 1042.33] 33.00% 1.32 ’ 3.63 Al (51, B1) a0 30% H=10.2m  |M+2+Mk 378.30]  124.84 499 33.00% 1.32|4.56 Al (E1, B1) oo 30% H=10.2m  |N+2+Nk 711.58) 234.82| 939.29| 33.00% 132

r [es a1 (51, BL) 40 30% H=102m  |n+z+nk 263.69 §7.02]  348.07]  33.00% 132 259 Al (61, B1) Ao 30% H=102m  |M+2+MK 22589| 74.54) 29817 33.00% 1.3 364  |Al (51, B1) a0 30% H=10.2m  |M+2+Mk 507.20] 167.38 670| 33.00% 1.32[2.57 AL (51, B1) a0 30% H=10.2 M+2+N 1027.71]  339.14] 1356.58] 33.00% 132

z . , 4 -10. ) i ) .00% . - — - . , =10. . . . . . s a0 =10.2m K E . " . .

5 o[Les  [m {61, B1) 40 30% H=102m _ |M+2+Mk | 52525 17333 69332 33.00%  1.32 260 AL (51, B1) Ao 30% H-102m |N+2+M | 312.15| 103.01] 412.04] 33.00%  1.32 365 |AL (51, B1) A0 30% H-10.2m  |me2+Mk | 453.42| 149.63 soa| 33.00% 132 - - .

“ fies Al (51, B1) 10 30% H=10.2m  [M+2+Mk 515.72 170.19]  680.74] 33.00% 1.32] 261 Al (61, B1) no 30% H=10.2m  |N+2+Mk 380.04) 12541 501.65] 33.00% 1.32] ’] 366 a1 (51, B1) a0 30% Ho10.2m  IMe2+MK 362.39]  119.50 273 33.00% 132 4.58 Al (61, B1) o SODA’ H:10.2m 0+2+1k 596.16| 19673] 786.93 33'00“/” 1.32
166 |AL (51, B1) 40 30% H=102m  |M+2+Mk 489.14 161.42]  645.66] 33.00% 1.32) 2.62 AL (BL, B1) Ao 30% H=10.2m  |M+2+Mk 310.59) 102.49|  409.97| 33.00% 1.32 2.67 a1 (51, B1) A0 30% Ho10.2m  IMezemx 13291 142.86 571 33.00% a2 Al (B, B1) no 30% H=10.2m _ |M+2+Mk 801.59| 264.52) 1058.10| 33.00% 132
167 Al (51, B1) a0 30% H=10.2m T+2+Mk 497.15 164.06 656.24)  33.00% 1.32] 2.63 Al (1, B1) go 30% H=10.2m M+2+MK 304.60 100.52 402.08| 33.00% 1.32 368 AL (El: B1) a0 30% H=10.2m Ne2eMR 30182 112.80 251 33.00% 132 4.60 Al (61, B1) apo 30% H=10.2m M+2+MNk 520.81 171.87 687.47| 33.00% 1.32
1.68 Al (61, B1) g0 30% H=10.2m M+2+Mk 658.18 217.20] 868.80| 33.00% 1.32 2.64 Al (B1, B1) go 30% H=10.2m [1+2+K 240.76 79.45 317.80| 33.00% 1.32 1 3.69 Al (51, B1) a0 30% H=10.2m N+2+Mk 347.97 114.83 459 33.00% 132 4.61 Al (b1, B1) ao 30% H=10.2m N+2+Nk 589.95 194.68 778.73| 33.00% 1.32
1.69 Al (51, B1) 40 30% H=10.2m  [M+2+Mk 622.61 20546 821,85 33.00% 132 265 AL (B1, B1) Ao 30% H=10.2m  [M+2+Mk 253.41 83.62| 33450, 33.00% 1.32 / = 50 3.70 Al (61, B1) a0 30% H=10.2m  |M+2+Mk 388.58) 12823 513| 33.00% 1.32|4.62 AL (b1, B1) a0 30% H=10.2m  |N+2+4Mk 82651 27275 1091.00 33.00% 1.32
1.70 Al (61, B1) 540 30% H=10.2m  [M+2+Mk 616.74 203.52|  814.09| 33.00% 1.32 2.66 Al (B1, B1) go 30% H=10.2m  |[+2+Mk 268.94] 88.75|  355.00| 33.00% 1.32 A 1] rm | - 37 Al (61, B1) Ao 30% H=10.2m _ |N+2+Mk 369.05| 121.79 487| 33.00% 1.32[4.63 Al (b1, B1) go 30% H=10.2m M+2+MK 373.81 123.36 493.43| 33.00% 1.32
171 AL (B1, B1) Ao 30% H=10.2m  |M+2+Mk 605.49 199.81| 799.24] 33.00% 1.32 2.67 AL (B1, B1) Ao 30% H=10.2m  |N+2+Mk 239.23)  78.94| 315.78| 33.00% 1.32 ; = — 3.72 Al (51, B1) Ao 30% H=10.2m  |M+2+MK 323.08] 106.62 426] 33.00% 1.32|4.64 Al (51, B1) ao 30% H=10.2m  |N+2+Nk 379.46) 125.22| 500.89) 33.00% 1.32
172 AL (1, B) A0 30% Hel0Zm el | 39857| 131531 52612 33.00% 142 268 |AL (B1, B1) Ao 30% He10am |N-2+Mw | 270.86|  89.38) 357.51| 33.00%| 1.2 28 3 373 |M (51, B1) a0 30% H=102m _[n+2+M« | 487.52] 16088 644 33.00% 1320465  |AlL (51, B1) A0 30% H=10.2m  |n+24Mk | 56953 187.95] 751.78] 33.00%) 132
173 A (0% B0 0% P e R L 269 AL (B1, B1) Ao 30% He10.2m  |M-2¢Mk | 289.96|  95.69| 38275 33.00% 132 — = 374 |m (51, B1) a0 30% He102m _[n+2+Mx | 460.82] 15207 68| 33.00% 1320365  |AL (61, B1) g0 30% H=10.2m  |ns2+Nk | 60429 199.42] 797.67] 33.00%  1.32
174 Al (51, B1) Ao 30% H=102m _ [M+2+Mk | 382.25 126.14) 50457 33.00%| 142 270 a1 (61, B1} g0 30% H=102m  |M+2+Mk | 405.87| 133.94] 53575 33.00%| 132 R = L 375 (A1 (61, B1) a0 30% H=10.2m  |M+2+Mk | 39435  130.13 521 33.00% 1320~ a1 (51, B1) 210 30% ne10.2m Ins2enx 38758 12700 S1i6ll 33.00% 132
175 AL (51, B1) A0 30% Ho102m w2+l | 394.82 130.29| 52116 33.00% 132 271 M (51, B1) A0 30% H=102m _ |m+2+Mk | 431.22] 142.30] 56921] 33.00%  1.32 376 |m (1, B1) A0 30% R=102m  |M+2+Mk | 39363 129.90 s520] 33.00%  1.32[, S0 S — : : : — :
1.76 Al (51, B1) s10 30% H=10.2m  |M+2+Mk 762.92 251.76| 1007.05 33.00% 1.32] 272 ry (L, B1) A0 30% He102m  |Me2+nw 20032 135.08| 54031 33.00% 132 377 " (BL B1) a0 30% he10.2m  Inezens 794.06]  262.17 1089 33.00% 132|458 Al (b1, B1) a0 30% H=10.2m  [N+2+Mk 350.87 11579 463.15| 33.00% 1.32
177 a1 (51, B1) 40 30% H-102m  |me2emc | 771.98 25475 101901 33.00%] 132 273l (5L B1) a0 30% htozm  Inezernx | aageol 11804l  =9z15| 3z00% 132 ! s T (51 B1) 20 30% iotoam Tnezeme | 33010 108.93 w3 3300w 13469 AL (51, B1) 0 30% H=10.2m  [n+2+Nk | 38311 12643] 505.70) 33.00%) 132
178 Al (61, B1) a0 30% H=10.2m _|N+2+Mk | 623.66 0581 52373 3300% 132 274 A1 (61, B1) Ao 30% H=10.2m  |M+2+Mk | 385.59 127.25| 508.98| 33.00%|  1.32 5 5 : 3788 a1 (61, B1) Ao 30% H=10.2m  |n+2+Mx | 30182  99.60 398 33.00% 132|470 Al (B1, B1) A0 30% H=10.2m  |M+2+k 398.26) 131.43| 525.71] 33.00% 132
179 Al (51, B1) so 30;\’7 H=10.2m  |M+2+Mk 750.38 247.62|  990.50 33-00;’ 132 2.75 AL (51, B1) mo 30% H=10.2m  [M+2+Mk 420.59| 138.79| 555.18) 33.00% 1.32 50 3.79 1 (51, B1) 20 30% H=10.2m  |M+2+Mx 248.94] 8215 329] 33.00% 132|471 Al (61, B1) gp 30% H=10.2m  |M+2+Mk 317.51] 104.78] 41911 33.00% 1.32
ii;’ ﬁ :Ei zi; A0 339; :;ig;: ﬂ:ﬁ:gi :ggii Ezji ii:jg igg/: i;i 276 E2 H=3.5m [N 5362) 1500 1500 27.57%) 0.8 380  |Al (51, B1) 0 30% H=102m  |Me2+Mx | 192.94]  63.67 255 33.00% 1320472 AL (61, B1) a0 30% H=10.2m  |N+2+Nk | 37642 12422] 496.88] 33.00%|  1.32
TR (52 81) 20 50% Hew02m ez | 2e7.08]  siss| 32734 saoon 12 £ D LR TR DR 1284 z ” T 28 A (B2, BY) ap 30% Heldam  |Me2+fik | 20802] 6865|275 sa.00%| 1320473 A1 (51, B1) 210 30% H=10.2m  [N+2+Mk | 46920 15486 619.46] 33.00% 132

’ 3.82 Al (51, B1) Ao 30% H=10.2m  [M+2+Mk 307.73] 10155 406] 33.00% 1.32[4 71 Al (51, B1) a0 30% H=10.2 N+2+0 455.63  15036] 601.43) 33.00% 132
1.83 Al (51, B1) 40 30% H=102m  [M+2+Mk 419.10 138.30]  553.22| 33.00% 1.32) - , B1) a0 30% .2m +2+Mk - - - -00% -
184 |a1 (51, B1) 40 30% H=102m  |M+2¢Mk 387.19 127.77]  s511.00] 33.00%  1.32] Q 3 383 Al (61, B1) Ao 30% H=10.2m  |M+2+0k 249.78| 8243 330] 33.00% 13214 75 Al (51, B1) Ao 30% H=10.2m  |N+2+Mk 49279 162.62] 650.49) 33.00% 1.32
185 |AL (51, B1) 40 30% Ho102m  |Me2elc | 445.79 14711  sssaa| 3soo%| 132 / 2 384 AL (B2, B1) Ao 30% H210.2m _|M+2¢Mx | 322.06) 106.28 425 33.00% 13376 a1 (51, B1) 20 30% H=10.2m  |M+2+Nk | 387.59] 127.91] 511.62] 33.00%  1.32

’ 3.85 a1 b1, B1) a0 30% H=10.2 n+2+0 293.09] 9672 387| 33.00% 1.32 :

1.86 Al (51, B1) 40 30% H=102m  [M+2+Mk 386.50 127.55|  510.18] 33.00% 1.32) Q ; o " (51 Bl) & 3092 10 zm r|+2+r|K 8229 8112 329 29.10% L1647 Al (51, B1) ao 30% H=10.2m  |M+2+0k 32559 107.45 429.78) 33.00% 1.32
1.87 Al (51, B1) f0 30% H=10.2m  |M+2+Mk 342.84 113.14]  452.54] 33.00% 1.32] ; 79 : (b1, B1) po =10.2m K : - - : . - "
Tos m (5151 a0 30% TR ye P e YR o A X : 3.87 m (5L, B1) A0 30% He10.2m  |Mezenk 303.11] 100,03 200 33.00% 132478 Al (b1, B1) go 30% H=10.2m  |MM+2+Mk 266.99 88.11|  352.43| 33.00% 1.32
189 " (ElJ B1) 40 30% H=10.2m Te2eTIx 363.89 120.08 48034 33.00% 132 7 3.88 Al (B1, B1) Ao 30% H=10.2m N+2+MNK 239.98 79.19 317| 33.00% 1.32|4.78A Al (61, B1) a0 30% H=10.2m N+2+Nk 462.24 152.54 610.16| 33.00% 1.32
1.90 Al (51, B1) 5o 30% H=10.2m M+2+Mk 346.83 114.45|  457.82 33.00% 1.32] 1 2 8 7 @ i a2 3.89 Al (61, B1) Ao 30% H=10.2m N+2+Mk 461,33 152.24 609 33.00% 1.32|14.79 Al (b1, B1) no 30% H=10.2m M+2+Mk 219.51 72.44 289.76| 33.00% 1.32
1.91 Al (51, B1) 40 30% H=10.2m  [M+2+MNk 354.71 117.05]  468.21]  33.00% 1.32 4 2 | b = 3.90 Al (b1, B1) Ao 30% H=10.2m  |M+2+Mk 441.09)  145.56 582 33.00% 1.3214.79A  |Al (1, B1) go 30% H=10.2m  |M+2+Mk 426.58|  140.77 563.09| 33.00% 132
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